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  11.5BE                     TRIGNOMETRY   – ANSWER KEY         

Qn no. Key Score

1 a)   600  

  b) 4 √2 cm
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4 a ) 900   

b )  2 cm

c)   2√3+2√3=4√3cm

1

1

1
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5 a )  9 cm

b ) 9√3 cm

c ) 9√3−
9

√3
cm

1

1

1
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6 a )  

b ) If the height of the building  is taken as  x  metres   , 

        Distance between Manu and the building  =    x  metres 

       Distance between Nandu and the building  =    x√3   metres

               x+x √3=40 ==> 
40
1+√3
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7 a )  

b )  

 

                ( write steps according to the figure   )

Height of the tower   = 50√3 m
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8 a )  

b) 50√3 m

c ) 50+50√3 m

d)  Marking the angles 

  50√2 : 100 : 50+50√3 = √2 : 2 : 1+√3
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